MA 161 EXAM II SPRING 2012
1. If g(z) = ﬁ%ﬂ find g'(1). A o »
cz? 4 d . (de—ac—bc)/(c+d)
B. (dc—2bc)/(c+d)?
C. (actad—2be)/(c+d)?
D. (ad—ac—2bc)/{c+d)?
E. (de—ac—bc)/(c+ d)

2. If the graph of f(z) is
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Then the graph of f/(z) looks most like
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3. If f(z) = (tan?z — 2)* find f’(—g).

SPRING 2012

32v/3
8v/3
16

32

500 /3
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4. A ball is thrown upward from ground level and its height function at time ¢ is

h(t) = —16¢* + 96t.

Find the ball’s velocity when it hits the ground.
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5. If f(z) = /o + /= find f'(1).

1 sin &
O Find i 5 tano

EXAM II

5O QW e

SPRING 2012

3/25/2
3/2
o7/2
05/2
0—3/2

o awr

1/2
DNE




MA. 161 EXAM 11 SPRING 2012

7. The amount of kinetic energy possessed by an object is given by E = % mu? where m
is the object’s mass and v is it's velocity. Suppose a particle moves according to the
position function p(t) = 2t3 4 342 — 12¢t + 7 for ¢ > 0. When does the object possess
no kinetic energy?

t=1,t=2
t=2
t=1
t=1/2, t=1
t=6

# O QWP

8. Find dy/dz where tan(wy) = €® + e¥.

e® + e¥ — ysec?(zy)
z sec?(zy)

€” + e¥ + sec? (zy)
sec?(zy)

&

e® — sec?(zy)
—e¥ + xsec?(zy)

e® — ysec?(zy)
—e¥ + @ sec?(zy)
(e® - e¥)(sec®(zy) + 1)
) z sec2(zy)
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9. Find equation of the line tangent to f when z = 1 where f(z) = sin(2nz?).

A y=az-1

B. y=4dnz—4n
C.y=drx—1
I D, y=z-2rm
: E. y=2nx—4r

10. Find dy/dz using logarithmic differentation where y = (cos(x))®.
A. (cos(z))®(In(sin{z))—a tan(z))
B. (cos(z))*(In(cos(z)—z tan(x))
C. (cos(z))®(In(tan) —sin(z))
D. z(In(sin(z)) — cos(z))
E. z(ln(sin(z)) — 1)
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11. Find f!(z) where f(z) = In(In(In(z)))

sin(z) + cos(z) '

12. Find f'{(z) where f(z) = e

SPRING 2012

1

" (2In(In(z)))

1

" (zIn(In(z)))

1

" (zIn(In(in(z))))

1

" (zIn(z)In(In(z)))

1

~ (zn(z))

' (z — 2){(cos(z) — sin(z))

(z+1)2
cos(z) — sin(z)
(@417

B cos(z) — (z + 2) sin(z)

(z+1)2

‘ (z + 1) cos(z) — sin(z)

(z+1)2
2 cos(z) + 2 sin(z)
(x+1)?




% w

13. Find 759 [sin(2z)] at z = 5 A —(3)*®
B. (~2)%+/3
C. —(2)%
D. 23
E. (2)%v3

14. Find ad; [n|z? —4z + 1] at z =1.
A, -2
B. -1
C. 0
D. 1
E. 2




